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PART -1
1 WEM.deMdna@ﬂvﬂmWyeeﬁmﬂwhmuchbmchcf
" a Delta circuit has an impedance of \3Z? .
2 3Z b. ZA3 c.Z  d. None of these
Z'Wﬁdlnfﬂ:ehﬂomwwhimpﬂnmpmeofaR-Lcﬁuﬁt?_ g
a. Decaying function b. Increasing Cubic function
¢. Decreasing reciprocal function d. None of these

3. Whichofﬂnfouwinskmwiﬁmwaﬁnﬁamin upamionofapciodic

;Itconminsonlyevenhumniu b. It contains only odd harmonics
¢.Bothaandb d. None of these
4. Comidaatwo-poﬂmipmalm mompmapmcimiwolmgndividedbythe
hputmmtiuqmlmwhiehnfﬂnionawhs?
aZn b. 1Zyz c. Z12*Z; d. None of these
5. mammmmﬁmhomn-n-(m)c. What is the value
of Zy; of the network? : -
213 b.43 c.% " d. None of these
6. m«mmmwmhmm .
a. Rheostat b. Potentiometer ¢. Thermodynamizor d. None of these
% Wmhﬂiemdwwﬁmnmﬁmmwm:mﬁmm
a. Zero b,m-VifthecplnamSOHz
. ¢.110 V if the cycles are 60 Hz d. None of these :
8 mummdegmmmdemﬁ:tmzzAMa
110 V source?
2. 500 b. 50 mQ c. 50kQ d. None of these
9 th‘ﬁwo{mm.ifA-mbetofpolumdB-moluﬁmmdn
per second? _
2. ABHz b. AR/n ¢. AB2Hz d. None of these




1l.mwwwmammw.moﬂwwin13ﬂfﬁmﬁ

8 A of current through the filament?
293 ; b. 104 c.6.15 d. None of these

12. What is a neutral atom?
a. An atom in which the number of electrons is equal to the number of protons so that
there is no net electric charge.
b. An atom in which the number of neutrons is twice the number of protons and electron
ut together. SR
c.f\’nmminwhichlhanumberofdmhmdoemuumbuofpmm
d. None of these. 3

13, What is the unit of measurement of electrical conductance?

a. Ohm ' b. 1/0hm ¢. Heary d. Siemens

14. Which of the following can be used as a rheostat for low power applications?
a. A two-terminal variable resistor.
b. A three-terminal potentiometer with one terminal unconnected.
¢, A three-terminal potentiometer with one terminal connected to the wiper.
d. All the above.

15. What is the current, in amperes, when 0.95 coulombs pass a point in 5 5?

a. 1.00 b.0.19 _ c.4.75 d. None of these
16. Which of the following can be measured by a millimeter?
a. Voltage _b.nuigm _ ¢ Current . d All the above

17.1t was found that the current was 60 mA when a circuit with a particular resistance is
connected to a 20 V battery. The current has dropped to 30 mA after sometime. How
much has the voltage changed? '
alov b2V c.0V . d. None of these

18. What is the power consumed by the eircuit when a bulb of 60 watts and another of 120

walls are joined in a series?

3. 180W Ib.w'W c.120W d. None of these

; 19.WhatisﬂmmhmufuMOmhn¢wiuof028mdim,ud:hpoeiﬁcm
0.56 ohm-cm?
a. 900 Q b.%0Q 90 d. None of these
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21. Which of the mnmamuﬁtmm.wﬁcwofammm
a. Ohm-meter b. Ohm ¢. Siemens 4. Ohm/meter
nnna&dum.uﬂmdvnrwomawofmsn 120
msnmmamduummmmofmmmwino:wm ;
achhvaﬂ:enquirdobjwﬁwoﬂm
n.Allﬂnm.murhl
mmmbmwofunndsn

b. 3 Q) in series with the
aﬁﬂhsﬁiﬂﬂiﬂ!ﬂﬂpﬁd‘dwduﬂdaﬁ

d. None of these

'thunismmoved?
;Toulmismew b.'i'onlmdmcbimmes :
will pot change d.Toulmoewilldmubyone-ﬂﬁd

into these resistors. The

e‘.resimuandnwhlofmm&wmt
mmh.ﬁﬂmA.TOmAandlm mA.WhIZisthe

Mﬁh&d“MﬂMﬁjﬁﬁﬂﬂhmwathemof
i ﬂowh:soutnfﬁmnode“is

27. The law
currents flowin inhﬁlltmdhloq\ﬂtothbmofmﬂ
knownas ____» i
Kirchhoff's current law hmprimipleofcmmﬁmofdwuiceha:ge
c.Bothaandb - 4. Nome of these 3
28 umwmmmpummﬁwwmmmomofm,
mmnhmwm :
s 160 W b.80W c.40W d. None of these

wmmwomﬂw&mmmwmemsomwnasm :
resistors hmmhusu%mo:ofasimme

_ mwm-mu.ofmm
than the of the ' X
4. 10 chms and 15 obms b. 16 ohims and 24 ohms
c. 6 ohms and 9 ehms. B d; None of these



30. Which of the following can be a use of a parallel circuit? .
a. Voltage b. Current c. Magnetic flux d. None of these
31. Which of the following can be used to measure the strength of a battery?
a. Henry b. Tesla ¢. Volt d. None of these

32, What is the main reason for a circuit breaker to shut off when a large number of
appliances on run on one single circuit?
a. Voltage becomes o high that it cannot be handled anymore.
b. mmmdmwmmmmmw

c.Bothaand b.

d. None of these. .
33. Which of the following is & device capable of supplying electrical energy?

a. Microwave b. Radio transmitter ¢, Solar cell d. None of these
34. Which of the following can be used to increase the capacitance of a capacitor?

a. Decrease the plate area, b. Increase the plate area.

c. Increase the magnetic field. - d. None of these.

ﬁmammmummhamw
« - a Electrolytic capacitor Ceramic capacitor
c. Paper capacitor d.Nmoftheu

36. What is Electrical impedance?

Lkhmmofﬂ:eoppomﬁmﬂ:nammmamm;mm
is added or removed,

b. nmﬁmmofﬂnwumﬁnlmmwsmwhmﬁereua
change in the cycles.
&Rufbsmof&eoppwﬁmﬂm:muﬁtmn;mwhnawhpis

applied. _
d. None of these.

37. Whmbhmuhmmﬁdbhwm
a. Decreases

¢. Remains the same immﬂicmmluedinthnm
nmhdm&mmhutmmﬁwﬂﬁw

a. Linear b. Quadratic c. Exponential d. None of these
39. Whmduuﬂumﬂowmiu circuit?

a. Never b. it is charging

¢. When it is discharging d Bothbandc
40. The polarizability of a dielectriciscalled

a. Dielectric constant " b. Relative permittivity

c.Botha and b d. None of these

0300900000000000O’OOOOOQOOOO0.00@OC
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41, Which of th Mwofmumnwmmpmummm .
_&mm.mm fagi b. Conduetive material .
¢, Dielectric material d. Al the sbove
ltage source. -

ﬂ-wnwmﬁmmmmﬂammm«wimm
mwmdmhmmwwwmmmu zero, then the

capacitor is:
~ a.Zero b. Maximum c. Half the capacity of the source d. None of these
43.mmmmwmmmmmmmmmummm '

- a. Air b. Alumina c. Mi d. Polystyrene
44. WhntisthoSIunitforupucihneo?

a. Volt b. Watt c. Farad d. None of these
45.WhichofthnMiuuﬁtdW?

a. Tesla bnuyfwb . AYWD d Wb
mnwwummm__.

a. there is volitage b. there is no voltage

c. there is current d. there is no

41.wmammmmmwhmmadwm? :

g mewmquamhmmﬁamMcﬁem

ummwmwum:mtmmamﬁcﬁm
: &nquﬂnwhichamdumrismved

Wampﬁhﬁold-
d. None of these. _
4a.mwmmmmwmmmmmemmmm
mofsmwicﬂeﬁeldw?
amﬂmmw b. The flux density decreases.
ammmmmm. 4. The flux density doubles.
49 mmormmwummm
a. the cugrent hﬂﬂnWmew
b mmmu«adnmm
ammmuﬂdnwm
d.none of these
50, What is the lle mmummmlmud- in & magnetic field that is
changing st s xate of 10 .
- b.220V ¢ 2200V d. None of these



51. The flux density in a wire wound core can be i | ' i
a. decreasing the current through the coil hmmwmmmw
- c. increasing the ambient pressure d. none of these

52, The voltage induced across the coil wire placed in a changing magoetic field s
- a. Positively correlated to the number of turns in the coil
b. Negatively correlated to the number of turns in the coil
¢. Uncorrelated to the number of turns in the coil
_ d. Positively correlated to the atmospheric pressure

53, Consider a 100-turn coil of wire with 0.5 A of current through it. What is the

magnetomotive force? :
a. 50 At " b. 500 At c. 5 At ' d. None of these

54, Which of the following describes the magnetization left behind in & ferromagnetic
mnma(mch-uhon)aﬁummmwﬁddkm

a. Retentivity b. Remanence ¢.Bothaand b d_.Nomofﬂam'
ss.wwmmmmommmwifamhammmum .

speed?

a. It decreases b. It increases

¢. It remains the same - d. It becomes zero

56. Whuisﬂ:cﬂudmﬁtyefumgnaﬁnmmauklmo“%mdmwﬁmﬂ
areais 0.5 m’

a.500put - b.5000ut - - ¢.2000 ut d. None of these
57, What is the peak-to-peak value when the peak of a sine wave is 13 V?
a2V b.13V c.260V d. None of these

58, Which of the following is determined by the tums-ratio?

a. Ratio of primary and secondary voltages E.Mnfpmntyndmuhrymts

c.Bothaandb d. None of these

" 59, The turns ratio of a step down transformer is ;
a. equal to one -b. less than 1 . SRR
. ¢. more than 1 - 4. more than that of the step-up transformer

60. Consider two coils with an inductance of 64 mH and 81 mH respectively. What is the
nmulhdmmbﬂmhwﬂsifﬁamoﬁdamdmﬁnghﬂwmmaoﬂsis
457
. 8. 324 mH b.648mH ¢.725mH . . d Noneofthesé
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61. What is a balun transformer? :
anpnmmummmﬂmlﬂwﬁ'ﬁw .
b.nuummmmm:wmmmw

signal
mhkuwmmmmmmw_
d. None of these

) &.Wehofﬁefolhvdnghﬂuewiﬂutrm&meﬂ

a. The same transformer can be used as a step up or step down.
b.mPﬁmarywindingmdhemnduywhdingmconnecwdthmushumlmp.
c.Bothaandb.

d. None of these.

63. Which of the following true with an sutotransformer? f
;Thetwowindinpmwumdmehthﬁthmﬁmtuhshhwwhmmhmis

wnchingeaehofthudjwm“ofﬁeodmm
¢. Bothaandb.
d. Nope of these.

a.wm«tmmmmmmwofmwmchmmmwmm
inductance of 3 ﬁeﬁmdamnlMofSHmmﬂnm?
a. Perfect transformer b. Ideal transformer
¢. Common value fransformer d. None of these

ﬁ.Cmﬁd&mZHindwmuobﬂsMnodmdinmiumddmmaﬁmﬂy “
eoupledtonchm.mhﬂnwmmmﬁﬂnwmbimﬁonifﬂnmﬁicimof

coupling is 0.157
a46H b.34H c.Bitheraorb d. None of these

&m:mmmwmmwm What will happen to the
m-mmmwumdmmmmmm _
3. They will be doubled. b. They will be halved.

c. They will increase four times. d. They will remain the same.

ﬁ.Cmddﬂn&htbulhwhiehhummﬁlOnhmismndbalmvottsouma.
-!fwemwmyﬂwmwhnﬁ:hlsmatﬁmbymhguhm
mmummumw _
2.30ohmsand5A b.30 Ohms and 10 A
. 10ohmsand30A° © .- d. None of these

68, considmmmwwmm-n-zs.ms.L-o.mn-andc=om pH.

i wm:ummmymwhhhmmmmeuM? ;
a. 7.96 kHz b. 8.3 kHz c. 10.5 kHz d. None of these




69. When a capacitor is used for power factor carrection in a single phase circuit, it decreases

a Linecurrent b, Powerfactor .  c.Bothaandb d. None of these

70. To which of the following is Superposition theorem is applicable?
a, Dependent voltage sources b. Dependent current sources
¢. Transformers

Section — A: Electrical

. 71. What is a squirrel cage?
a. It is a type of 3-phase AC generator.
b. It is a cage to protect the generator from squirrels.
c. It is a squirrel shaped transformer.
d. None of these.

B What happens to the impedance of a parallel RC circuit when the frequency of source
*  voltage is decreased?

a, It decreases b. It increases ¢. Itbecomeszero  d. It becomes emratic

73. What is the equivalent negative angle of 30° positive angle?
a.-30" b.-3 ¢ -300°

30° d. None of these
74, What happens o the impedance in a series RC circuit when the frequency and resistance
are halved? . : . :
a, It is also halved b. It becomes one-fourth
c. It becomes zero d. None of these

75. What does a phasor represent?

a. Phase angle b. Phase volume . c. Phase ratio d. None of these

m:frg;tgﬂmdutycymofapu&mw&mmmahighﬂmufsmsmdapuuawm
a.25% b. 256% €. 25.6% . 4. None of these
,w.mwmwwmuw
a. Number of turns b. Permeability ¢. Coil length d. All the above
RM&&;&&WMM‘:WMW
- & A magnetic field and a conduetor '
a.Amhmewm
¢. A magnetic field of the planets '
" d. Nene of these :
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79. Which of the following statements is true?
tAmﬁcﬂeMdevalmﬁ&bﬂammmwm-it

hhmmﬁcﬁddmmpmmmmwmmmdmmn

¢ Amgwﬂcﬁelddevelopswithintheeondnmmnbeoommpawld.

d. None of these

80. Which of the following can generate electricity?
a. A wire which is exposed to centrifugal force.
b. A wire which is passing through a magnetic flux field.
¢. A wire which is wound tightly around a 3
d. None of these.

81, Which of the following is true with transformers?
Ltbeywutonmepdndplufm
Emwmmhm:md-upumdm

¢. Bothaand b.

d. None of these.
&Wkﬁeucm&ypmohmmaﬂwlupmlfﬂmprmy

power is 200 W?

a. 400W b. 100'W c.200W d. None of these
83. An autotransformer can be used as ;

a. Step-up or step-down transformer b. Balun transformer

c.Bothaandb d. None of these
24, A transformer with 1:1 tums ratio is called .

a. Isolation transformer . _ " b.Equitable transformer

c. Isotopic transformer 2 d. None of these :

ss.wmnmqﬁvﬂmw.ofamﬁnmofmmwﬁehmwﬁ-
d4mﬂnw&dy.udamnunlinducm°f0.15mﬂ?
© e6.15mH d. None of these

86. It was known that a balanced Wheatstone bridge will remain balanced even when the-
miﬁmdedmm.w This observation is based on which of

the following theorems?

a. Pythagoras theorem b. Duality theorem

¢. Reciprocity theorem d. None of these
'87. Which of the following is resettable protective devise?

a. Fuse b. Circuit breaker ¢, Bothaandb d. None of these
48, Which of the following is equal to 0.8 W? ' L2

a8mW . b.800mW.. ¢. 800 MW d. None of these




89. What s ﬂ:omungofapunculusomwlf:tnapableofmpplymaSAﬁorﬁhours?
a. 1.33 Ah b. 48 Ah c. 0.75 Ah d. None of these

90. If you had consumed 27 kWh in 15 days, what is the average daily consumption of
power?

a. 0.5556 kWh b. 0.9 kWh ¢ .8 kWh d. None of these
91. If an oven consumes 500 watts for 25 hours, then the total power used is
a. 12.5kWa b. 12500 kWa c. 12500 mW d. None of these
: 91Wuhmemﬁmafmwmmlwmmm
input of OW? .
a. 1.125% b. 112.25% c. 88.89% d. 3%
93.Whuis480.000pWeqndm? 5
a 0480 W b. 0.480kW ¢. 0.480 mW d. None of these

94. A server uses 350 W and is allowed to run continuously for 30 days. What is the amount
of kilowatt hours of energy is consumed?
a. 252,000kWh b. 252kWh ¢. 0252 kWh d. None of these

95. What is the determinant of a 2x2 matrix which has 2 and 8 in the firstrow and 8 and 2 in
the second row?

al2 b. 60 c. -60 ‘ d.Ngmofthnu

96. Which of the following is used by the branch current method? ;
a. Kirchhoff’s laws b. Thevenin’s laws  ¢. Ohms law d. None of these

* 97. Which of the fo is true in a Y-Y configuration? '

a. The phase current, line current and load cument are equal in each phase.

b. The phase current and line current-are equal and load current is double of line current.
ammdehmMNmM&mmm
d. None of these. ’

n.mmnmmmmm&mmywmwm
system?
a. Half of the total current b. Zero
c. Half of the line currént d. None of these

99. Which of the following is true when there is a constant load power?
a. Uniform conversion of electrical energy to mechanical energy.
b. Uniform conversion of mechanical energy to electrical energy.
¢. Noo-uniferm conversion of mechanical energy to electrical energy.
- d. None of these.

100, What is the of separation of voltages in a 3 system?
a, 150° 8 le ¢. 90° ; Ph?mmofm

10
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Section — Bt Electronics & Communication

?I.Whichofﬂiefo]lowtngilﬂnintw&mchiptbrwwmdm
a. 8255 b. 8256 c. 8251 d. None of these

72. Which of the following is a computer language?
a. Photoshop b.PL/1 ¢. Microsoft Project  d. All the above

73. Which of the following are of noise sources in a BJT?
a. Shot noise b. Partitionnoise ¢, Thermal noise d. All the above

74, What i the output of an OR gate with 4 inputs where one input is high and the other
three are low?
a. High :
b. Low
¢. Can be high or low depending on the application
d. First low, followed by high

75, How many inputs can “AND” and “OR” gates have?

2. Onlyone - b. exactly 2 c.Notmorethan2  d. More than 2
76. What is the equivalent of 47 in hexadecimal system?

a.2F b. 30 c. 2B d. None of these
77. Which of the following is used to store data in memory?

a. Flip-Flop b.LED ¢. Bothaandb d. None of these
_T&Whidloftheﬁnowh:hmwlﬂmm

a. Tt is an eight bit code. " b.1tisa seven bit code.

¢. It is a four bit code. d. None of these.
w.meuﬂdwawmmsmw

a5 A

c.25 d. Can be any number between 5 and 20

W.Whmmmdlmhﬂnmmode.givmﬂmtithuawmmgainof

0.98 in the CB mode?
8. 100 b. 50 c.98 d. None of these

Sl.Whichofﬂleﬁ)ﬂowhstdumhutintM?
‘4 Atmospheric temperature b. Current passing through the diode
c. The clash between the holes and electrons d. None of these

11




82. What is a varistor?
a. It is a voltage dependent resistor.
b. It is a variable resistance enabled resistor.
c. nummthmdmshvmeeofpme.
d. None of these,

83. What are valance electrons?
&Electromupamedmdmmmﬂwmdmofﬁwm
'b. Electrons that are attached to the neutrons inside the atom.
l:.Electmmmﬂ:ewmmcltm’btioﬁhcm
d.Honeoftheuo.

84. What is a veractor diode?
anadtoduwhmmmmbeehngadmm
b. It is a diode where all the holes can be replaced by electrons
altmammwwe&emmbmmhwwmﬂmdm
d. None of these.

85. What is 8.2x10° Q equal to?
a 82MQ b.82k0 c.82mQ d. None of these

86. axlo‘mmphodmm 5x10° is equal to : :
a. 40x10'° b. 4x10" ¢c.Bothaandb d. None of these

87. Which of the following is equal to 186 milliwatts?
a. 1.86x10™ kW b. 1.86x10° kW ¢ 1.86x10% kW d. None of these

88. What is the ST unit for inductance?

a Volt b. Ohm ¢. Henry d. Columb
89. What is a JFET?
mnuavnhpmmm

b. It is a Joint Frequency Enabling device.
« * ¢ It is James Faraday Electronic Testing device.

d. None of these.
+ 60, What is the type of gate in “n” channel JFET?

a.n type b. p type c. can be either o type or p type d. n-p type
9L Whumheumtofmmnmomfermpmubihm

a. Henry b. Heary/m ¢. Henry/kg d. None of these

92. Which of the following reduces the number of electron-hole pairs?
2. Recombination b, Re-energization  c¢. Recastination d. None of these

12
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93. Which of the following will generate piezo-electric effect?
: a.Huti.ngnncryml b. Pressure on the crystal
¢. Soaking the crystal in iodine d. None of these

94. Which of the following statements is true?
a. Resistivity of silicon is more than that of germanium.
b. Resistivity of silicon is less than that of germanium.
¢. Resistivity of silicon is same as that of germanium.
d. Resistivity of silicon is half of that of germanium.

9S.Whichofthefouwln3mmmﬂowofmhmﬂoommm
a. Holes b. Electrons c.Bothaand b d. None of these

%.Mutkﬂnmkﬁﬁwofammmlmpmmmneﬁm '
b. 50% of its normal value

a, Zero
o Between 50% and 100% of the normal value  d. None of these

'mnbhehmmeﬁﬁwgmm
a. Bonded molecules b. Crystals ¢. Catacombs d. None of these

98. Which of the following statements is true?
mAnaponenﬁnlmpliﬁerhuadiodeinfmdbukpath.
b.Anexponeuﬁnlmﬁﬂerhuaminfmdbackpnh.
c.AnuponenﬁnlampliﬁuhsboﬂudiodemdamisMoeinfeodbackpnh.

+ d. None of these. .

99. menyﬁmudnymhwwmmmwontomnlﬁplyambywin

80857
a2 times b. 3 times ¢. 4 times d. More than 4 times
100. Which of the following is not allowed as a variable name in C?
4. Vamame5 b. Varval2 ¢. Svar d. All the above
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